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Step 3: K3, K0, 00000 rigid00000000000000O0O.
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Th(K3) =Th(K)uA(T®)u{D0(@OD:00,00:00) }
Th(K3) = Th(K3) U A(TO)

Th(K}) =Th(Ka)uATH)u{0(@DO:00) }

Step 4: D0O0OOO K}lO, K2000000.

KZ2=K}uA(Th) (1<i<4)
T =Th(K}) UTh(K3) UTh(KE) UTh(K])
A(TH =A% u{o@D:00)}
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00ooooo.
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= 00/0000000000000000000
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B (0C0O0O00O0), ¢ (0O0O0), Opy, (0O0O00O00), Oy (DO0O0D0),
Ogyy (000000), Og (0D0DD0)

Example 1: BO00 (00 :00) 0000000000000 0OOO

Example 2: ¢, 00 (00 :00)00000000O0OOODOOO0O0O

00O Rg:
DO000: (Vz: s)(o(x:s) — Mo(x: s))
Do00o00: (Wo: s)(o(x: s) — #(—o(x: s)))
O0000: Opy(Vae: s)(o(x: 8) — Oy (—o(z: s)))
Orim(Vz: s)(o(z: s) — Ogjpo(z: s))
O0000: Ogy(Vx: s)(o(x: s) — Ogi(—o(x: s)))
Ogyt (Vx: s)(o(x: s) — Opypo(x: s))
O0000000: Ogu(Ve: s)(o(x: s) — Ogit(—o(x: s)))
Ogi(Vx: s)(o(x: s) — (Opymo(z: s) A Opym—o(x: 8)))

24



oo od

googoo
Joodboodoodbooboogboodoodogn I

@ 000000 kg, F

(1) Fg, 000 (c: 00) > WOO0 (c: 00)

et otty, botdbobbotdbotdbogud

(2) kg, Ogi(0000 (00 :00) — (O 0000 (00 : 00)A

Jogboodogbo, bbbt o, gtogbbotdougbod
Joogboodoodogd

25



Talk Outline

1. Jjooooooo-0o0, oo, 0o, tooooooog
2. 00OooOoooooo

3. 0000oooooooooood

4. 0000000 OODoOOo(oOooOooOoOo)oon

e IO OUDLOOOOUODOON
e 10 /00 /000D0O0O0DOODOO

5. 000
6. OO



JO00000000 Rigidity

000000000, 0000000000 X=(T,54,9,<,<4) 000.

e 1000D: ODOODDODODODODOO <ODO (T,<)

o UUDUDLy Db UOLDUDUOODODUDLUO <4 U (TUSA,<_|_)DDD,
googog.
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e HOUOONO ¢c: —-T1€X2

e nUOOOOO fiTg X -+ XTp—TE€SK
e nUOOOO p:sy X -+ Xspe€

e JIODODDODODO ps:s' € (00O, s<3s)
e 1ODOOOOOO p: undef € L2

Juintbtbgbtotdotdbgbodbobotgbotdidn oo
000000 tdngdO00d0odoogoooo.

Example 1: 00 €, OO0 € F, OO0 eTdoogd, ood: —- 00 O
O00:00 — 00

Origid0 0000000000 : 00,00 e S,000no,dd: —-00 00

O00:00 —-00. 000,0000000:0000000@O:00):000
Jgoogbg.

Example 2: 000 € P, 00 e S,0000, 000:00
OO0, 0000000000000 o0o0o0ooooood

Example 3: 00 € P, 00 € S,0000, 00 : undef O pop - U0
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Oodoo:
tr i=x:7 | er7m | f(t1,...,tn)iT |t

T

00, ceC, c:. 7€, 000000, fEFy, f:T1X - XTh —
reQQnor <.

Example: 00 €T, 00000: — 00O, O00:00 — 00 €000
O, 00:00000@O:00):00

O rigidOOOO:
to i=x:0 | t 0g, o <o.

o

Example: 00 € S,0000, «: 00 (D0O:0000000000)

Joot:
ts::zt'r | to' | t/

00, s=71,s=0c 000 § < s.
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KotsOO(OD:00,00:00)

K,0O0ODO(OD:00)00000ooao.

KotbsODO(OD:00,00:00)
(000, Ko YOO (OO :00,00:00))
KobsOO(OD:00,00:00)
(000, Ko YOO (OO:00,00:00))
KsbsOODO(@QD:00)

(000, Ks3/000(00:00))

000000 (0D:00)0000(0D:00)00,00000K,, K3000
00.

KisbsO(ODDO:00)
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Joodoodtdngidddogooood, dooooodoodoogodd
oo,

ooty

Oo0ooo0d, 8(x: s) eTs—4{x: s}00 Dom(0) 000000000 OOO0O
0:V — 7 O00.

Example: p(z: 00){z: 00/00: 00} (00, 00 <4 00).
00oooog

0o0oO00oO00Dd, 6% z:s)e7 —{z: s}00 Dom(6%) 00DODDO0OO0O0
00g ov: v -7 000.

Example: p(z: 00){z: 00/00: 00} (00, 00 ¢4 00).
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L.

00oo: ¢

0000 L+« :=p)«—
000 L« G :=p@) «— {p1(t1),... ,pn(tn)}

OO0000: DO00DO0o0oooog €={Cq,...,Ch}

Juobgbootdogubgbg:

e 100D0OODO: L~ GeKkDOOO, KK (L« G)I
e J000O0: KFL+—GUOKFL «—Gu{L}ooOd, KL «Gud
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Juobgbotdogdbtobbotdbotdn:

e 0DO0OOO: KFs(t) —G OO s<4 5000, KES(t) —G.
e 00DDDDD: sort(t) <y r0O00, KF 7(t) «.

00, sort(t)00¢t00000O0.

Example: XK={0000O@O0O:00)«}
0000 <4 0,0<4,00,00 <400,
O0: —-00,00: —-00 €

0000(0D:00) «
0@O0:00) —

(0OoODoooo)

DD(DD:DD)H(DDDDDDD)
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Juobboogdbobot:

e D00DO0O0DOODOODND: sort(t) <y rO0K F s1(t1) — G1,. ..,
Kt sp(tn) — G000, CF7(){x1: s1/t1,.-- ,xn: sn/tn} — G1 U
UG (O0O, EVar(t) =4{x1: 81,..., Tn: Sn}).

e D00DDDDDDD: L GeK , KF si(t;) — Gg,..., K F
sn(tp) — G000, KF (L «— GUG1U---UGp){x1: s1/t1,--- ,xn: sn/tn}o
(OO, {x1:81,---,xn: snt € EVar(L «— G)).

Example: K ={00(d0:00) «,
000 (z: 00) « {00 (z: 00)}}
00 €T, 00 €8S,, 00 ¢4 00,
00000 € L2.

00(0D:00)« 000(x:00)«{00(z:00)}
000 (00:00)—{00(@Oo:00)}

00, 0000000 “={z:00/00:00 }.
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Jobgbotdod, bbbt btobogbodn.

Th(K1) ru{0O0(@D:00),
000(@Oo:00),
0000 (0o:00),
00(0o:00),
oo(@o:00) Y}
ru{oo@o:00)}
ru{0O00@O:00),
0(@o:00),
0ooo(@o:00) Y}
ru{00@O:00,00:00)}

Th(K>)
Th(K3)

Th(K4)
0,

r = {00@O0:00), 00@O:00),
oo ((oo:o00), oo@o:o0),
Oo@o:.o00), oo@o:.oo) }.
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00(=-000) 0000000 M=(W,U,I) 000.

o W LUUUOOOO
o U: UUUIOOOO
e I={ly,|weW)}: DDDODO0ODOD weW 0DDO000 I, 00O
-seTuS,000, Iw(s) CU (B0, Iu(T) =Userus, Tw(s)),
- 8 <4 SjDDD ’ Iw(si) g[w(Sj),
-—ceCUO0c: 7000, Iy(e) € Iy(r),
- felROODfim XX —7eQO00, Iu(f): Iu(ry) X -+ X

Iw(Tn)HIw(T)’
-p€e PiO00p: undef € QO OO, Iy(p) CU.

00 (Rigid ¥-000) D0000000 wy,w; € WODDODO, Iy(r) =

00 (Rigid xT-000) D00D0D0D000weWOOOO, Iw(s) = Iu(ps)
0000
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Example:

Oo0O000: 7<7,000 OO: J<_|_a’
00000: Ky ={o(t3) <, q(te) <}
Ko ={7(t1) «, p(ta) «}
K3z ={o(t2) <}
Kq ={p(ts) <, p(z) — {q(z)}}
Rigid> -0 00 :
0000 rigidity: 0000 wy, w,cje woooo, Iw’C(T) = T, (1)
1 1 ]
O00000Cngidd0O0O0OOO0OO:
0000 weewnononono, Iy (1) C Iw’C(T/) 00 Iw (o) C lec(a’)

Dooooo0no: lw (p) € Iu, (B OO0 Lu (p) C T, ()

WK WK WiCy WiC,
7(t1)
™ (t1)

o(t3) o (t2)

o'(t3) o’ (t2)
p(ta) p(ts)

q(t6) Q(t5)
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OO0 tm; 000 Twm, OO0 st;, 000 Sit, 006,000 BelOOOOO, TimU
SitUBel CWDOOMO.

00 (000000) 000000 tmg,tm; € TimO 000 Iy, (s) = Iy, (s)
00000, 00s000000000000. 0000000, 00s0000
0o0ooooo.

00(0000000000000000) 000000 tmg,tm; € TimO OO
0, d € Uy, NUpn; 000, d € Iypp(s) & d € Ity (s)00000000, O
N0s000000000000. 0000000, 00s00000000000.

Example: 00 € Iy, s,(0000)000, 00 € U, 000000000
00 st; 0000, 00 € Iy, ,(0000)00000.

Joo, ouobotboodooubtobotdboodooon.
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